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Strategy 3 
Add Roth Conversion to Current Retirement Plan 

 
Unless I do the analysis, some of you will likely be suspicious that converting the 401(k) to 
a Roth as part of Jennifer’s current retirement plan (Strategy 1) might produce the best 
results.  It does not as it is the IUL that causes the significant gain of Strategy 2 over 
Strategy 1.  The Roth helps, but is not the dominant factor. 
 
Below are the net worth results of adding the Roth to Strategy 1.  
 

Strategy 3 
Roth Added to Current Retirement Plan 

 

 

Illiquid Assets 
(all liquid assets depleted) 



Page 2 of 3 
 

Not only are all liquid assets depleted, her only remaining cash flow is from Social Security 
as shown below in the Strategy 3 column. 
 

After Tax Retirement Cash Flow 
  Yr.      Age      Strategy 3        Strategy 2  

 
 
 
 
 
 
 
 
 
 
 
Below is the net worth comparison of all three strategies: 
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Strategy 2 also means more of an inheritance for Kelsie as you can see below: 
 

 
 
Conclusion 

 
It is the IUL that has the juice to produce the significant results of Strategy 2.   
 
I am reminded once again of Bill Boersma’s comment in his article in the December 2014 
issue of Trusts & Estates in which he discusses life insurance as an asset class: “I can only 
wonder if another asset with the same qualities would be implemented more frequently if it 
wasn’t called life insurance.” 
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